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11215000  9,346,248| 1,868,752
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22021 X 106,400m X 12 280,896
3302 X 33,200m X 122 131,472
3802 X 208,130m X 128 949,072
611-06
b2 832,048 830,714 1,334
OB+ EAIEE &
24021 X 38,880m X 122 111,974
3302 X 18,340m X 122 72,626
4102 X 22,100m X 122 108,732
5109 X 22,200m X 128 135,864
5002 X 56,900m X 122 402,852
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0] & o8 ol o HlmE2 a4 = 9 =
193,716 193,141 575
Osl+EABE £
(=] 2502 X 230m X 128 = 690
2847y 3702 X 1,100m X 128 = 4,884
3647y 4302 X 2,650m X 128 = 13674
4g47] 67020 X 21,700m X 128 = 174468
6
R 314,832 313,152 1,680
Osl+EABE 49
(=] 2802 X 93,700m X 128 = 314832
300 300 0
300 300 0
OBAEZ SH4EEAER 49 100,0008 X 33 = 300
8512,664| 6,653,194 1,859,470
142,000 142,000 0
142,000 142,000 0
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Etlgl A& 42 8,360,890 6,511,194 1,849,696
672-01
QBLE| H A2 5,980,000 4,330,000 1,650,000
O et 3
SIe2HEH LY 2XAIY 292 32
094 At 1,180,000,000& X 14 = 1,180,000
108 Al 800,000,000 X 14| = 800,000
ot=Held 29Il 5,000,000,000& x 80/100 = 4,000,000
672-02
ElEg s HEU2 2,380,890 2,181,194 199,696
O #ENEELEIAHNAS
2009 HFAl ot EHl BTLAEHE (+=HDIIS) 483,000,000& = 483,000
201049 P FAl o= &Hl BTLAEHE (+=HDIIS) 307,000,000& = 307,000
SFA =B St2Z2FH| 434,000,000 = 434,000
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oIty 2tel 4ol 9,774 0 9,774
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